
JUNO ECO 90

 

1 Encaixe FM Aço Inox Rig+Flex 203mm_v2 CO0504040502061 
2 Kit Saída Ar Quente (diam. 100) PA1090G065 
3 Eixo Inf Porta Hera/Loki/Juno Eco Preto IS0052030260000 
4 Parafuso Din 912 8.8 M6x10 Z/P CO0704060601019 
5 Tubo Red Inox 22x1,5x770 Tbo174 S/A IS08TBO01740010 
6 Dupla Deflectora de Fumos Eco 90 IC0401000000024 
7 Porca Din 6923 Inox M5 Pol CO0705250500002 
8 Parafuso Din 912 Inox M5x16 Pol CO0704060501602 
9 Conjunto Deflectora Juno Eco 90 V1 IC0408000000078 
10 Chp Dfl Juno Eco 90 PT 198x755x29,5 mm IS0101015260027 
11 Verm Defle 1 Rialto/Juno Eco 90 V1 IS1001250000081 
12 Verm Defle 2 Rialto/Juno Eco 90 V1 IS1001250000082 
13 Conjunto Vermiculite nº 47 IC1008000000043 
14 Verm Lat Esq Eco IS1013250000052 
15 Verm Cost 1 Rialto/Juno Eco 90 IS1012250000070 
16 Verm Cost 2 Rialto/Juno Eco 90 IS1012250000071 
17 Verm Cost 3 Rialto/Juno Eco 90 IS1012250000072 
18 Verm Lat Dir Eco IS1013250000053 
19 Verm Fun 1 Rialto/Juno Eco 90 IS1011250000046 
20 Verm Fun 2 Rialto/Juno Eco 90 IS1011250000047 
21 Grelha Ven�lação Juno Eco 80/90 IS0132015260002 



 

 

 

 

22 Parafuso Puxador Din 967 SIS M4x8 Z/P CO0704160400819 
23 Grelha de Cinzas nº 30 IS0103050260008 
24 Gaveta de Cinzas nº 42 IC0402000260012 
25 Parafuso Din 7991 10.9 M6x16 Z/P CO0704150601619 
26 Caixa Gaveta Cinzas Eco 90 Preto IS0102025260002 
27 Fundo Cam Comb Eco 90 Preto IS0011030260003 
28 Tampa Caixa de Ar Eco 70/80/90 Preto IS0116025260001 
29 T152 Prf Aço Sxt Int. 5x5 M6x17 Ntr CO012025T015212 
30 Porca Din 6923 M6 Z/B CO0705250600024 
31 Registo Ar Secundário Eco 70/80/90 IS0027030000003 
32 Registo Ar Primário Eco 70/80/90 IS0027030000002 
33 T371 Vei Aço Red 10x60 S/A IS0007800000E00 
33 T371 Vei Aço Red 10x60 S/A CO011325T037112 
34 Barra Registo Hera/Loki/Juno Eco IS0027030260002 
35 Anilha Din 125 M8 Z/B CO0703010800024 
36 Registo Completo Hera/Loki/Juno Eco IC0463000000010 
37 Kit Ven�lação SLZ Eco IC0462000000014 
38 Termostato Contacto NA 50º CO0306200000001 
39 Kit Ar Externo (diam. 100) PA1090G057 
40 Parafuso Din 7981 4,2x9,5 Z/P CO0704132501019 
41 Chapa Fixação Interruptor Juno Eco IS0131015260000 



JUNO ECO 90 

 

1 Cordão Fibra Vidro CVT D 10x3000 IS3024100000012 
2 Parafuso Din 7981 FA BZ 4,2x8 Z/P CO0704130400719 
3 Calha Sup Fixação de Vidro Iaco Eco 90 IS0118015260008 
4 Calha Inf Fixação de Vidro Iaco Eco 90 IS0118015260007 
5 Fita Vidro VFTC 25x2x3000 mm IS3024250000002 
5 Papel Cerâmico 20x2x3200 mm IS6071020000009 
6 Vidro Serigrafado nº 255 83,2x48,2 cm CO0201050000003 
7 T34 Prc Aço sxt 17x10 rsc M8 PRT IS0002500000E00 
7 T34 Prc Aço sxt 17x10 rsc M8 PRT CO010325T003426 
8 T33B Anl Aço Red 24x5.8 F 8,25 PRT IS0001700000E00 
8 T33B Anl Aço Red 24x5,8 F 8,25 PRT CO010225T033B26 
9 Anilha ondulada Din 137B M12 Preto CO0703041300026 
9 Anilha ondulada Din 137B M12 Preto IS0046700000E00 
10 T228 Prf sxt int M8x24,5 PRT IS0009300000E00 
10 T228 Prf sxt int M8x24,5 PRT CO012025T022826 
11 Fecho+Paraf+Porca Eco Preto IC0423000260015 
12 Porta Juno Eco 90 c/vidro IC0420000260159 



JUNO ECO 90 

 

1 Ven�lador TGA 60/1-180/30 CO0308000000007 
1 Ven�lador TGA 60/1-180/20 CO0308000000023 
2 Parafuso Din 7981 FA 4,2x13 Z/P CO0704130401319 
3 Ligador Adels Plug 151083 CO0300000002021 
4 Cable 61 IC5050000000010 
5 Interruptor 3 Pos F11400CI0II CO0302200000001 
6 Cable 35 IC5150000000020 
7 Parafuso Puxador Din 967 SIS M4x8 Z/P CO0704160400819 
8 Passa Fios 10x23mm CO0311000000150 
9 Resistência HS50 600R C/cabo IC5050000000008 
10 Parafuso Din 7981 3,5x6,5 Z/B IS0052700000E00 
10 Parafuso Din 7981 3,5x6,5 Z/B CO0704133500624 


